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Aritmetik for eksponenter (negative eksponenter)

1 + 8 =2 8 − (−9) =2

7 + 4 =(−2) (−1) − 5 =(−1)

6 − 2 =0 (−5) − (−7) =(−2)

10 + (−2) =(−1) (−7) − 7 =(−2)

2 + (−7) =2 (−7) − (−1) =(−1)

4 − (−7) =0 (−4) + 6 =2

8 − 2 =0 3 − 9 =2

7 + (−5) =(−2) (−3) + 4 =2

(−7) − 6 =2 6 − (−6) =2

3 + 8 =(−1) 8 − 8 =(−2)
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Aritmetik for eksponenter (negative eksponenter)

1 + 8 = 92 8 − (−9) = 732

7 + 4 = = 4(−2)

49
197

49
1

(−1) − 5 = (−6)(−1)

6 − 2 = (−1)0 (−5) − (−7) = = 7(−2)

25
176

25
1

10 + (−2) = (− ) = (−1 )(−1)

10
19

10
9

(−7) − 7 = (− ) = (−6 )(−2)

49
342

49
48

2 + (−7) = (−3)2 (−7) − (−1) =(−1)

7
6

4 − (−7) = 80 (−4) + 6 = 222

8 − 2 = (−1)0 3 − 9 = 02

7 + (−5) = (− ) = (−4 )(−2)

49
244

49
48

(−3) + 4 = 132

(−7) − 6 = 432 6 − (−6) = 422

3 + 8 = = 8(−1)

3
25

3
1

8 − 8 = (− ) = (−7 )(−2)

64
511

64
63
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